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Question #1 Topic 1

Examine the description of the PROMOTIONS table:

Name Null? Type

"PROMO ID NOT NULL NUMBER (6)
PROMOiNAME NOT NULL VARCHAR?Z (30)
PROMO CATEGORY NOT NULL VARCHARZ2 (30)
PROMO COST NOT NULL NUMBER (10, 2)

You want to display the unique promotion costs in each promotion category.
Which two queries can be used? (Choose two.)

A. SELECT DISTINCT promo_category ||  has ' || promo_cost AS COSTS FROM promotions ORDER BY 1;
B. SELECT DISTINCT promo_cost || 'in "' || DISTINCT promo_category FROM promotions ORDER BY 1;
C. SELECT DISTINCT promo_category, promo_cost FROM promotions ORDER BY 1;

D. SELECT promo_category DISTINCT promo_cost, FROM promotions ORDER BY 2;

E. SELECT promo_cost, promo_category FROM promotions ORDER BY 1;

Suggested Answer: AC

Community vote distribution
AC (100%)

B & kartajin 2 months ago
A-C is correct
upvoted 1 times

B & pushpaksarode 3 months ago
A and C are correct options
upvoted 1 times

B & dici79 5 months, 3 weeks ago
B: Has two distincts in the statement. Not correct.
D: The position of the distinct is not correct
E: it is not returning unique values.
upvoted 2 times

E & 5cff9a8 8 months ago
A and C is the correct answer.
upvoted 1 times

B & Drexan 8 months, 1 week ago

Selected Answer: AC

Correct answers
upvoted 1 times

B & fuck_india 1 year, 1 month ago

Selected Answer: AC

A and C are correct.
upvoted 1 times

B & alelejaja 1 year, 1 month ago

Selected Answer: AC

Agree that right answers are A and C
upvoted 1 times

E & Stevenciu 1 year, 3 months ago


https://www.examtopics.com/user/kartajin/
https://www.examtopics.com/user/kartajin/
https://www.examtopics.com/user/kartajin/
https://www.examtopics.com/user/pushpaksarode/
https://www.examtopics.com/user/pushpaksarode/
https://www.examtopics.com/user/pushpaksarode/
https://www.examtopics.com/user/dici79/
https://www.examtopics.com/user/dici79/
https://www.examtopics.com/user/dici79/
https://www.examtopics.com/user/5cff9a8/
https://www.examtopics.com/user/5cff9a8/
https://www.examtopics.com/user/5cff9a8/
https://www.examtopics.com/user/Drexan/
https://www.examtopics.com/user/Drexan/
https://www.examtopics.com/user/Drexan/
https://www.examtopics.com/user/fuck_india/
https://www.examtopics.com/user/fuck_india/
https://www.examtopics.com/user/fuck_india/
https://www.examtopics.com/user/alelejaja/
https://www.examtopics.com/user/alelejaja/
https://www.examtopics.com/user/alelejaja/
https://www.examtopics.com/user/Stevenciu/
https://www.examtopics.com/user/Stevenciu/
https://www.examtopics.com/user/Stevenciu/

Selected Answer: AC

Agree that right answers are A and C
upvoted 1 times

E & Lee_jong_suk 1 year, 6 months ago

Distinct is used to get distinct set of values for one or more columns mentioned in select statement
upvoted 2 times

E & KizTine 1 year, 9 months ago

The correct answers

upvoted 1 times

B & tradersmj1 2 years ago
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upvoted 1 times

B & oOracle_373 2 years, 1 month ago

- Distinct keyword is used to select the unique values of the column/combination of columns mentioned after the DISTINCT clause.
Thus Option E is incorrect , as this does not use DISTINCT clause and might include duplicates.

- Distinct should be used once in a SELECT statement and should be used IMMEDIATELY after the SELECT clause. NOT to be used before every
column.

Thus Options D and B are incorrect, as the positioning of the DISTINCT clause is incorrect.

-- Option A and C are correct.

Option A: Even though there is a string ' has ' in everyrow returned , the combination of promo_category || ' has ' || promo_cost will still be distinct.
Option C: correct use case. ORDER BY clause does not affect the uniqueness in the returned result set.
upvoted 4 times

B & alic_alex 2 years, 3 months ago

Selected Answer: AC

AC are correct. DB have Distinct in a wrong position in the query and E returns all because of the missing DISTINCT
upvoted 2 times

E & subtype11 2 years, 5 months ago
Option A is not correct because the query uses the "||" operator to concatenate the promo_category and promo_cost columns with a string ' has " in
between. This creates a new column "COSTS" that combines the values from the two columns in a way that is not useful for the task of displaying
unique promotion costs in each promotion category. The SELECT DISTINCT statement is used on this combined column, so it will return unique
values for the concatenated column, but it does not address the requirement of showing unique promotion costs in each promotion category.
Additionally, it uses an ORDER BY 1 which in this case doesn't make sense since the column COSTS doesn't exist.
upvoted 1 times

& & J4vi 2 years, 2 months ago
| tried all the options.The ORDER BY still works in this concatenations and the table shows what its required
upvoted 2 times

B & elchiko 2 years, 7 months ago
distinct must come soon after the select keyword and only one per select statement
upvoted 1 times

B & Rik92 2 years, 8 months ago
AC are correct. DB have Distinct in a wrong position in the query and E returns all because of the missing DISTINCT

upvoted 2 times

B & Artur1991 2 years, 9 months ago
ac are correct answers
upvoted 2 times
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Question #2 Topic 1

Examine the description of the PRODUCTS table:

Name Null? Type
PRODUCT ID NOT NULL NUMBER (2)
PRODUCT:NAME VARCHARZ (10)
UNIT PRICE NUMBER (3)
SURCHARGE VARCHAR?Z (2)
EXPIRY DATE DATE
DELIVERY DATE DATE

Which three queries use valid expressions? (Choose three.)

A. SELECT product_id, unit_price, S "Discount", unit_price + surcharge - discount FROM products;
B. SELECT product_id, (unit_price * 0.15 / (4.75 + 552.25)) FROM products;

C. SELECT product_id, (expiry_date - delivery_date) * 2 FROM products;

D. SELECT product_id, unit_price || 5 "Discount", unit_price + surcharge - discount FROM products;
E. SELECT product_id, expiry_date * 2 FROM products;

F. SELECT product_id, unit_price, unit_price + surcharge FROM products;

Suggested Answer: BCF

Community vote distribution
BCF (100%)

E & GunduzHuseynli 2 years, 9 months ago
BCE should be correct answer cause number+varchar in this case imspossible
upvoted 7 times

© & extopic01 2 years, 9 months ago
Have u tried it yourself in livesgl.oracle.com?
Number + varchar is possible due to implicit casting, so BCF is correct.
upvoted 6 times

B & zzsqlcoder 9 months, 1 week ago
D executes also. Implicit casting applies
upvoted 1 times

© & gioves28 2 years, 9 months ago
E is wrong inconsistent datatypes: expected NUMBER got DATE
upvoted 2 times

B & dici79 5 months, 3 weeks ago
A: Discount field doesn't exist in the table.
B: OK
C: 0K
D: Discount field doesn't exist in the table.
E: Date * Number is not a valid operation
F: Depending on the values, it may or may not be OK. if the entered values are numeric, this statement will work. Because the question requires 3
answers, | pass this option as correct.
upvoted 1 times

B & Drexan 8 months, 1 week ago

Selected Answer: BCF

F works (altough is VARCAR2) if its content is numeric,
upvoted 1 times

B & alelejaja 1 year, 1 month ago

Selected Answer: BCF


https://www.examtopics.com/user/GunduzHuseynli/
https://www.examtopics.com/user/GunduzHuseynli/
https://www.examtopics.com/user/GunduzHuseynli/
https://www.examtopics.com/user/extopic01/
https://www.examtopics.com/user/extopic01/
https://www.examtopics.com/user/extopic01/
https://www.examtopics.com/user/zzsqlcoder/
https://www.examtopics.com/user/zzsqlcoder/
https://www.examtopics.com/user/zzsqlcoder/
https://www.examtopics.com/user/gioves28/
https://www.examtopics.com/user/gioves28/
https://www.examtopics.com/user/gioves28/
https://www.examtopics.com/user/dici79/
https://www.examtopics.com/user/dici79/
https://www.examtopics.com/user/dici79/
https://www.examtopics.com/user/Drexan/
https://www.examtopics.com/user/Drexan/
https://www.examtopics.com/user/Drexan/
https://www.examtopics.com/user/alelejaja/
https://www.examtopics.com/user/alelejaja/
https://www.examtopics.com/user/alelejaja/

B and C clearly correct.
F is tricky. It can be correct only if the column Surcharge contains numeric characters defined as varchar2
upvoted 2 times

B & tom2992 1 year, 2 months ago

Selected Answer: BCF

A and D wrong cause they have invalid identifier "Discount".
E wrong cause date can't multiple with number.
upvoted 1 times

E & Lee_jong_suk 1 year, 6 months ago
BCF is correct answer
Please note:
date+date is not allowed
upvoted 2 times

B & TMerlo 1 year, 9 months ago

Selected Answer: BCF

It’s not a right decision plus a NUMBER with VARCHAR? fields.
upvoted 1 times

5 & jm9999 1 year, 9 months ago
Seems like a sketchy question, have to assume surcharge contains only numerical characters in the string for F
upvoted 3 times

B & fantastic_side_eye 2 years ago
BCF
The three queries that use valid expressions are:

B. SELECT product_id, (unit_price * 0.15 / (4.75 + 552.25)) FROM products;

C. SELECT product_id, (expiry_date - delivery_date) * 2 FROM products;

F. SELECT product_id, unit_price, unit_price + surcharge FROM products;

Explanation:

A. This query is invalid because the alias "S" is not defined anywhere in the query.

B. This query is valid. It calculates a value based on the unit price of each product using a mathematical expression.

C. This query is valid. It calculates the difference between the expiry date and delivery date for each product and multiplies it by 2.
D. This query is invalid because the alias "discount” is not defined anywhere in the query.

E. This query is invalid because you cannot multiply a date value by a number.

F. This query is valid. It selects the product ID, unit price, and the sum of the unit price and surcharge for each product.
upvoted 3 times

B & zouve 2 years ago
select '2'+3 from dual;

it produces the SUM correctly so F is correct
upvoted 2 times

& & Nelita 2 years, 1 month ago
B-C-F IS CORRECT IF the varchar-column has stored number.
upvoted 2 times

B & Indhumathishan 2 years, 1 month ago
why is D incorrect?
upvoted 3 times


https://www.examtopics.com/user/tom2992/
https://www.examtopics.com/user/tom2992/
https://www.examtopics.com/user/tom2992/
https://www.examtopics.com/user/Lee_jong_suk/
https://www.examtopics.com/user/Lee_jong_suk/
https://www.examtopics.com/user/Lee_jong_suk/
https://www.examtopics.com/user/TMerlo/
https://www.examtopics.com/user/TMerlo/
https://www.examtopics.com/user/TMerlo/
https://www.examtopics.com/user/jm9999/
https://www.examtopics.com/user/jm9999/
https://www.examtopics.com/user/jm9999/
https://www.examtopics.com/user/fantastic_side_eye/
https://www.examtopics.com/user/fantastic_side_eye/
https://www.examtopics.com/user/fantastic_side_eye/
https://www.examtopics.com/user/zouve/
https://www.examtopics.com/user/zouve/
https://www.examtopics.com/user/zouve/
https://www.examtopics.com/user/Nelita/
https://www.examtopics.com/user/Nelita/
https://www.examtopics.com/user/Nelita/
https://www.examtopics.com/user/Indhumathishan/
https://www.examtopics.com/user/Indhumathishan/
https://www.examtopics.com/user/Indhumathishan/

© & VoidWanderer 10 months, 1 week ago
they are subtracting discount but there's no such column in table.
upvoted 1 times

B & holdfaststrongly 2 years, 9 months ago
Is "-discount" in AD supposed to be an alias for the column?
upvoted 1 times

E & MZEnuovazelanda 2 years, 9 months ago
IT is correct BCF because in the Datatype Varchar2 there may be a number. Oracle makes it an implicit cast and uses it as a number
upvoted 4 times

E & gabolka 2 years, 9 months ago
you cant multiply date, BCF correct if varchar2 is number
upvoted 4 times

© & Efstathia 2 years, 9 months ago
Just to say the same things in other words.... If surcharge column contains numeric values (even as varchar2 type) can be
implicitly converted
upvoted 3 times

& & CyberP 2 years, 1 month ago
If you cant multiply date, then why you chose ¢ ? since c the date is also multiply ?
upvoted 1 times

E & MySekQL 1 year, 9 months ago
I'm guessing because if you subtract two dates that are relatively close, you will get a number not a date. And that CAN be multiplied.
upvoted 1 times

& & Averagenoob 2 years, 10 months ago
bce should be
upvoted 2 times
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Question #3 Topic 1

What is true about non-equijoin statement performance? (Choose two.)

A. The BETWEEN condition always performs less well than using the >= and <= conditions.
B. The BETWEEN condition always performs better than using the >= and <= conditions.

C. The Oracle join syntax performs better than the SQL:1999 compliant ANSI join syntax.
D. Table aliases can improve performance.

E. The join syntax used makes no difference to performance.

Suggested Answer: DE

Community vote distribution
DE (81%) Other

B & oracledev [ILIATEL D 2 years, 4 months ago
Selected Answer: CD

D. Table aliases can improve performance. Table aliases can improve performance by reducing the amount of parsing needed to execute the query.

C. The Oracle join syntax performs better than the SQL:1999 compliant ANSI join syntax in Oracle 18c. Oracle's join syntax can result in better
performance in certain scenarios as it allows the optimizer to understand the join order and access paths more effectively.

Therefore, options C and D are correct. Options A, B, and E are incorrect.
upvoted 6 times

© & RogerGadelha [ETae) 1 month, 3 weeks ago
A and B are false, no discussion.
C. Oracle's query optimizer internally rewrites both syntaxes into the same execution plan. The decision on how to execute the join—nested loop, hash
join, merge join, etc.—is based on statistics, indexes, and optimizer settings, not on the join syntax itself.
D. Oracle's SQL parser and optimizer are designed to handle fully qualified table names just as efficiently as aliases. The use of aliases affects only
the textual complexity of the query, not the underlying parsing or optimization time in any meaningful or measurable way.
upvoted 1 times

B & dan_bj 2 months, 1 week ago
Oracle's official stance: Oracle documentation explicitly states that the SQL:1999-compliant join syntax does not offer any performance benefits over
the Oracle-proprietary join syntax that existed in prior releases
upvoted 1 times

& & highwater 3 months ago
D, E with no doupt
upvoted 1 times

B & Thameur01 5 months ago
D. Table aliases can improve performance. Most Voted
E. The join syntax used makes no difference to performance.
upvoted 1 times

© & Thameur01 5 months ago

D. Table aliases can improve performance. Most Voted
E. The join syntax used makes no difference to performance.
upvoted 1 times

B & dici79 5 months, 3 weeks ago

Selected Answer: DE
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A and B states ALWAYS - which is not always the case.

C: The join syntax doesn't make much difference with performance.

D: That's correct; it helps the optimizer

E: this makes sense to me - The joint syntax doesn't make a difference.
upvoted 1 times

B & Drexan 8 months, 1 week ago

According to some papers and IA, these must be the better options...

upvoted 1 times

B & hidro 8 months, 2 weeks ago
options D and E are correct
Options C are incorrect because the SQL:1999-compliant join syntax does not offer any
performance benefits over the Oracle-proprietary join syntax that existed in the earlier releases.
upvoted 1 times

E & VoidWanderer 10 months, 3 weeks ago
i find D and E a little bit contradictory, do aliases come under join syntax?
upvoted 1 times

© & alelejaja 1 year, 1 month ago
D. Table aliases can improve performance.
E. the difference related to performance that can be experimented between the two join syntax is minimum since Oracle optimizes internally both
manners in a similar way
upvoted 1 times

E & Misi_Oracle 1 year, 1 month ago
C and D is true.
C is true because oracle Join does perform better.
D is true. Table aliases improve the 1/0. Refer:
https://docs.oracle.com/middleware/1221/bip/BIPDM/best_practices.htm
E is false. It does affect performance. Refer:
https://docs.oracle.com/cd/F49540_01/DOC/server.815/a67781/c20c_joi.htm

upvoted 1 times

& & Lee_jong_suk 1 year, 6 months ago
Table alias makes it easy for the parser to look up the columns in their respective tables.
"Join" or "Where T1.id=T2.id" conditions have no difference in performance, though join is recommended to be used as the new syntax.
upvoted 1 times

E & KizTine 1 year, 9 months ago
I vote for answers C and E. To be honest, | don't know how good they are, so vague are their contents... | just know that answers A, B and C are wrong.
So | vote by elemination.
upvoted 1 times

& & captainkul 1 year, 9 months ago
C and E correct.
upvoted 1 times

B & dilshod 1 year, 12 months ago
D E are correct
upvoted 3 times

B & musafir 2 years ago
C D E are all correct it seems
https://www.examtopics.com/discussions/oracle/view/10257-exam-1z0-071-topic-1-question-253-discussion/
upvoted 1 times
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Question #4 Topic 1

Which two are true? (Choose two.)

A. ADD_MONTHS adds a number of calendar months to a date.

B. CEIL requires an argument which is a numeric data type.

C. CEIL returns the largest integer less than or equal to a specified number.

D. LAST_DAY returns the date of the last day of the current month only.

E. LAST_DAY returns the date of the last day of the month for the date argument passed to the function.

F. LAST_DAY returns the date of the last day of the previous month only.

Suggested Answer: AC

Reference:

https://docs.oracle.com/database/121/SQLRF/functions025.htm
https://docs.oracle.com/cd/B28359_01/server.111/b28286/functions004.htm

Community vote distribution
AE (92%) 8%

© & Peter_Chen 2 years, 10 months ago
maby AE is Right...
C. CEIL returns the largest integer less than or equal to a specified number.
Can change : CEIL returns the minmum integer more than or equal to a specified number
upvoted 13 times

© & Eren1998 [IEITTRIe) 4 months ago
B is wrong because [select ceil('12,4") from dual;] . '12.4" is char type, Oracle use implicit conversion to make the argument is valid if they can be.
upvoted 1 times

B & Drexan 8 months, 1 week ago
The only possible responses
upvoted 1 times

B & fantastic_side_eye 9 months ago
The two true statements are:
AE
Explanation:

B. CEIL is an Oracle SQL function that requires an argument which is a numeric data type. This statement is false, as CEIL can also take input
arguments of type DATE or TIMESTAMP.

C. CEIL is an Oracle SQL function that returns the smallest integer greater than or equal to a specified number. This statement is false, as CEIL
actually returns the largest integer less than or equal to a specified number.

D. LAST_DAY is an Oracle SQL function that returns the date of the last day of the current month only. This statement is false, as LAST_DAY can be
used with any date argument to return the last day of that month.

E. This statement is true. LAST_DAY is an Oracle SQL function that can be used with a date argument to return the date of the last day of the month
for that date. For example, LAST_DAY('2023-06-26") would return '2023-06-30'.

F. This statement is false. LAST_DAY can be used with any date argument to return the last day of that month, not just the previous month.
upvoted 3 times

& & highwater 3 months ago
CEIL works only with numeric data types, it also works with implicit conversions
for instance CEIL('123.45).
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upvoted 1 times
© & KizTine 1 year, 9 months ago
Are you sure that CEIL function can also take input arguments of type DATE or TIMESTAMP ?
I think it can take nonnumeric data type (that can be implicitly converted to a numeric data type) as an argument.
https://www.w3resource.com/oracle/oracle-numeric-functions/oracle-ceil-function.php
upvoted 2 times

E & VoidWanderer 10 months, 3 weeks ago
AE is correct since ceil returns minimum integer greater than or equal to specified value.
upvoted 1 times

& & durvaljr20 1 year ago
https://docs.oracle.com/database/121/SQLRF/functions025.htm
"CEIL returns the smallest integer that is greater than or equal ton. "

upvoted 1 times

O & sitttttt 1 year ago
A and E is the correct answer. C is incorrect because ceil always return smallest integer greater than or equal to values.
upvoted 1 times

O & sitttttt 1 year ago
B also so ABand E
upvoted 1 times

B & ac77458 1 year, 2 months ago
Based on Oracle's definitions, even though they do not make sense. Since when common sense is common practice? Anyhow for test purposes.
According to that information | believe the correct answers are ABE. Although you can only choose 2.

Oracle's Definition of CEIL: CEIL returns the smallest integer that is greater than or equal to n. ( https://docs.oracle.com/en/database/oracle/oracle-
database/19/sqrf/CEIL.htmI#GUID-6DCCIAFB-9B80-4C27-AF63-5AA3B1E43660 )

C is incorrect as it says: CEIL returns the largest integer less than or equal to a specific number. This is the definition of FLOOR (
https://docs.oracle.com/en/database/oracle/oracle-database/19/sqlrf/FLOOR.htmI#GUID-67F61AC7-C097-4397-A122-213157BF584F )

E: LAST_DAY ( https://docs.oracle.com/en/database/oracle/oracle-database/19/sqlrf/LAST_DAY.html#GUID-296C7C02-7FB9-4AAC-8927-
6A79320CE0C6 )
upvoted 1 times

& & tom2992 1 year, 2 months ago
No. B isn't correct cause CEIL can use with date and interval too.
upvoted 1 times

B & ac77458 1 year, 2 months ago
B also could an answer as if you execute select ceil(‘abc’) from dual; you get ORA-017222: invalid number.

Making this even more confusing.
upvoted 2 times

E & Lee_jong_suk 1 year, 6 months ago
AE is the correct answer.
SELECT LAST_DAY(TO_DATE('09-SEP-2023')) FROM DUAL;
//op- 30-09-2023
SELECT CEIL('100'.2) FROM DUAL;
//op 101
select add_months(TO_DATE('25-DEC-2023"),3) from dual;
/lop 25-03-2024
upvoted 1 times

E & Roneros 1 year, 9 months ago
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A and E are the correct answers.
A - ADD_MONTHS returns the date date plus integer months. (https://docs.oracle.com/en/database/oracle/oracle-
database/19/sqlrf/ADD_MONTHS.html#GUID-B8C74443-DF32-4B7C-857F-28D557381543)
E - LAST_DAY returns the date of the last day of the month that contains date. The return type is always DATE, regardless of the datatype of date.
(https://docs.oracle.com/cd/B19306_01/server.102/b14200/functions072.htm)

upvoted 1 times

© & Guru_C 1 year, 11 months ago
C. CEIL returns the largest integer less than or equal to a specified number.
How does Option:C is correct. CEIL always return greater than or equal to specified number.
upvoted 3 times

B & Fredderik91 2 years, 1 month ago
AE is correct, C is false CEIL return SMALL NOT LARGEST https://docs.oracle.com/en/database/oracle/oracle-database/21/sqlrf/CEIL.htmI#GUID-
6DCC9AFB-9B80-4C27-AF63-5AA3B1E43660
upvoted 1 times

B & jokri 2 years, 1 month ago
por sure AE are correct. C cannot be correct by "CEIL returns the largest integer...". Correct answer should be "CEIL returns the smallest integer..."
upvoted 1 times

© & PinoZ 2 years, 3 months ago
C is the definition of FLOOR()!
upvoted 3 times

B & Augustoaq 2 years, 4 months ago
| think that these are correct: A, B, E.
C is wrong because CEIL returns the smallest integer that is greater than or equal to the specified number
upvoted 1 times

© & Orxan_H 2 years, 2 months ago
Why B incorrect:
This function takes as an argument any numeric data type or any nonnumeric data type that can be implicitly converted to a numeric data type.
The function returns the same data type as the numeric data type of the argument.
https://docs.oracle.com/database/121/SQLRF/functions025.htm#SQLRF00614
upvoted 4 times

B & jfe1 2 years, 5 months ago
C is wrong because
CEIL returns the smallest integer greater than or equal to a specified number.
https://docs.oracle.com/database/121/SQLRF/functions025.htm#SQLRF00614

Eis good

Because

select last_day(('01-FEB-2023'")) as "xxxgg" from dual;
Answer : 2/28/2023

Finally the answer is AE
upvoted 1 times
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Question #5 Topic 1

Which three statements are true about Oracle synonyms? (Choose three.)

A. A synonym cannot be created for a PL/SQL package.
B. A synonym can be available to all users.

C. A SEQUENCE can have a synonym.

D. Any user can drop a PUBLIC synonym.

E. A synonym created by one user can refer to an object belonging to another user.

Suggested Answer: BCE

Community vote distribution
BCE (100%)

B & Drexan 8 months, 1 week ago
Almost all objects can have synonyms. And drop implies privileges
upvoted 1 times

B & dilshod 2 years ago
bce, ecb
upvoted 1 times

B & alic_alex 2 years, 3 months ago
Selected Answer: BCE
BCE is the correct answer!
upvoted 1 times

B & thai_27 2 years, 9 months ago
BCE is the correct answer!
upvoted 1 times

B & holdfaststrongly 2 years, 9 months ago
D) Any user can drop a PUBLIC synonym. False. Must have system privilege to create or drop a PUBLIC SYNONYM.
upvoted 2 times

B & Artur1991 2 years, 9 months ago
bce are the correct answers
upvoted 1 times
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Question #6 Topic 1

Which two are true? (Choose two.)

A. CONCAT joins two character strings together.

B. CONCAT joins two or more character strings together.

C. FLOOR returns the largest positive integer less than or equal to a specified number.
D. INSTR finds the offset within a character string, starting from position 0.

E. INSTR finds the offset within a string of a single character only.

F. FLOOR returns the largest integer less than or equal to a specified number.

Suggested Answer: AF

Community vote distribution
AF (100%)

B & highwater 3 months ago
A. CONCAT joins two character strings together
F. FLOOR returns the largest integer less than or equal to a specified number
upvoted 2 times

E & LuisLikes 4 months, 2 weeks ago

Selected Answer: BF

B is correct, CONCAT joins two or more arguments.

—-Example query

select concat('this ', 'is ', 'a ', 'test’) concat from dual;
Output: "this is a test"
F is also correct, since it accepts negative numbers as well.

~-Example query
select floor(-5.2526) from dual;

Output: -6 (-6 is smaller than -5, it also caught me offguard the first time).
upvoted 1 times

& & highwater 3 months ago
B is not true
if you want to use CONCAT() with many arguments then it looks like the example below

select concat('this', concat('is', concat(' a', ' test'))) from dual;
upvoted 1 times

B & 15eeda4 5 months, 3 weeks ago
Starting from Oracle 23c, CONCAT can take multiple arguments:
https://docs.oracle.com/en/database/oracle/oracle-database/21/sqlrf/CONCAT.html
https://docs.oracle.com/en/database/oracle/oracle-database/23/sqlrf/CONCAT.html
upvoted 1 times

B & 5cff9a8 8 months ago
I thought B was correct, whereas it depends on the database. Oracle defers from Microsoft.
upvoted 1 times

E & Drexan 8 months, 1 week ago
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floor(12.3) returns 12 and ceil(12.3) returns 13
upvoted 1 times
© & hmatinnn 1 year, 7 months ago
How F can be correct?! Okay, in oracle documents it is mentioned like : FLOOR returns the largest integer equal to or less than n.
But why it returns less than inputted value?? (select floor(15,7) from dual => output is 15)
That statement is proper for CEIL function for my point of view.
Can anyone help me to overcome this simply seem but complicated question?
upvoted 1 times

& & Lee_jong_suk 1 year, 6 months ago
Floor takes the minimum integer value while CEIL takes the largest integer value.
SELECT FLOOR('100.2") FROM DUAL; //op: 100
SELECT CEIL('100.2242") FROM DUAL;//op: 101
upvoted 2 times

© & Guru_C 1 year, 11 months ago
How F is correct.
In case argument is passed in a negative. eg -1.4. The output is -2.
But -1 is greater than -2. And, its contrast with option F.
F. FLOOR returns the largest integer less than or equal to a specified number.

select floor(-1.4) from dual;
o/p
-2

upvoted 3 times

E & Proctored_Expert 2 years, 6 months ago
A. CONCAT joins two character strings together.
F. FLOOR returns the largest integer less than or equal to a specified number.
upvoted 2 times

E & MahdiHamdii 2 years, 6 months ago
A-F Correct
upvoted 1 times

B & boddoju 2 years, 7 months ago
Why option-b is not correct? can any one explain
upvoted 1 times

B & J4vi 2 years, 4 months ago
Try to concat 3 different strings and see... it's posible in Microsoft SQL, not Oracle
upvoted 2 times

B & Rik92 2 years, 1 month ago
CONCAT as a function in Oracle can only do two strings, if you want more, use ||
The function and operator are not the same thing!
upvoted 1 times

E & pawanl 2 years, 9 months ago
how is F correct?
upvoted 1 times
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Question #7 Topic 1

Examine these SQL statements which execute successfully:
CREATE TABLE emp

(emp no  NUMBER(2) CONSTRAINT emp emp no pk PRIMARY KEY,
ename VARCHAR?Z (15),

salary NUMBER (8, 2),

mgr no NUMBER (2)) ;

ALTER TABLE emp ADD CONSTRAINT emp mgr fk
FOREIGN KEY (mgr no)
REFERENCES emp (emp no)
ON DELETE SET NULL;

ALTER TABLE emp
DISABLE CONSTRAINT emp emp no pk
CASCADE;

ALTER TABLE emp
ENABLE CONSTRAINT emp emp no pk;

Which two statements are true after execution? (Choose two.)

A. The primary key constraint will be enabled and IMMEDIATE.
B. The foreign key constraint will be enabled and DEFERRED.
C. The primary key constraint will be enabled and DEFERRED.
D. The foreign key constraint will be disabled.

E. The foreign key constraint will be enabled and IMMEDIATE.

Suggested Answer: AD

Community vote distribution
AD (100%)

B & 826¢b95 2 months, 3 weeks ago

Selected Answer: AE

Its A & E not D.
why? read below
D. The foreign key constraint will be disabled.

This is incorrect because the question states that the SQL statements execute successfully, so the foreign key constraint would typically be enabled,
not disabled.
upvoted 1 times

E & 5cff9a8 8 months ago
Never knew what DEFERRED was. One keeps, learning every day.
upvoted 2 times

B & Drexan 8 months, 1 week ago

Selected Answer: AD

DEFERRED: allows to make insertions and updates without immediate validation, only when you commit
upvoted 1 times

B & Lee_jong_suk 1 year, 6 months ago

Selected Answer: AD

AD is the correct answer
upvoted 2 times

B & Andrew91 1 year, 11 months ago
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What does it mean by IMMEDIATE tho?
upvoted 1 times

& & Lee_jong_suk 1 year, 6 months ago
IMMEDIATE means the check will be done as soon as you make change in your session.
But DEFERRED means the check will be done only when you do commit.
upvoted 3 times

B & twing 2 years, 3 months ago
is AD
PK enable again
upvoted 1 times

B & Chandra1104 2 years, 3 months ago
AD
Cascade constraint will disable to primay key as well as foreign key.
upvoted 2 times

B & Rik92 2 years, 8 months ago
AD. Due to the PK being disabled, the FK is disabled. PK afterwards is enabled again
upvoted 3 times
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Question #8 Topic 1

Examine this SQL statement:
UPDATE orders o
SET customer name =
(SELECT cust last name
FRCOM customers
WHERE customer id = o.customer id);

Which two are true? (Choose two.)

A. All existing rows in the ORDERS table are updated.

B. The subquery is executed before the UPDATE statement is executed.
C. The subquery is not a correlated subquery.

D. The subquery is executed for every updated row in the ORDERS table.

E. The UPDATE statement executes successfully even if the subquery selects multiple rows.

Suggested Answer: AB

Community vote distribution
AD (75%) AE (25%)

© & meddheddy 2 years, 9 months ago
A and D tested on Oracle 12c1
upvoted 14 times

& & highwater [(TELaate) 3 months ago

Correct answers are AD
upvoted 1 times

© & Thameur01 5 months, 1 week ago

Selected Answer: AD

Correct Answers:

A. All existing rows in the ORDERS table are updated.

D. The subquery is executed for every updated row in the ORDERS table.
upvoted 2 times

© & Drexan 8 months, 1 week ago
No WHEN in update: all rows will be updated. Correlated subquery, will execute for every row in the upddate
upvoted 1 times

B & Ramileu 12 months ago
SHOULD BE b AND d
upvoted 1 times

E & Fredderik91 1 year, 1 month ago
B (false), depending EXPLAIN PLAN. no always is executed first.
C (false), ".0" is correlative
E (false) is possible multiple rows, an error more than row.
Aand D is correct
upvoted 2 times

B & hmatinnn 1 year, 5 months ago

sHOULD BEa AND d

upvoted 1 times
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E & Lee_jong_suk 1 year, 6 months ago
AD option is right
upvoted 1 times

B & jm9999 1 year, 9 months ago
AD; cannot be B, correlated subqueries are not executed before the parent (outer) query. Cannot be E, cannot set customer_name to multiple values
for each row
upvoted 1 times

B & HassanMkhlalati 1 year, 9 months ago
Ais correct
D :It will retrieve the matching value for each row from the table orders with the table customers
upvoted 1 times

B & Fredderik91 2 years, 1 month ago
BD,
Ais incorrect only matching rows are updated, not all
C is invalid, statement correct structure
E is incorrect, in case multiple rows, error multiple rows in subquery
upvoted 4 times

©) & HassanMkhlalati 1 year, 9 months ago
Incorrect
upvoted 1 times

E & GEN0123 2 years ago
definitely agree. Oracle will only update the rows that are matched
upvoted 1 times

B & TofOra 1 year, 4 months ago
No, it will update unmatched rows with NULL
upvoted 2 times

& & hmatinnn 1 year, 6 months ago
Actually i though in that way. But most likely customer table is PK. Orders table is FK. So it means the data that in the orders table also have in the
customers table. And all rows will be updated.
upvoted 1 times

© & NB196 2 years, 1 month ago
Can someone explain why A is correct?
upvoted 1 times

& & raduM 2 years ago
because it updates every row. If it does not have a match it will put the value null
upvoted 4 times

© & hmatinnn 1 year, 6 months ago
most likely customer table is PK. Orders table is FK. So it means the data that in the orders table also have in the customers table. And all rows
will be updated.
upvoted 1 times

& & CyberP 2 years, 1 month ago
I think B is correct, subquery will execute for each row its right but also update will update for each raw after fulfilling the condition of subquery :)
Then how update will update each raw ? update will check its resources "subquery" is condition met ? yes ? then update after execute subquery and
fully checking it.
upvoted 1 times

& & TofOra 1 year, 4 months ago
The STATMENT update will execute first, then the action of updating will execute after the subquery. explain plan for
update ordersQ8 o
set customer_name =
(select cust_last_name
from customersQ8
where customer_id = o.customer_id);
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SELECT plan_table_output
FROM TABLE(DBMS_XPLAN.DISPLAY('plan_table',null,basic +note'));
upvoted 2 times
& & Rik92 2 years, 1 month ago
AD are correct
upvoted 2 times

© & kuff 2 years, 1 month ago
AD is the answer
upvoted 1 times

© & kaplanek 2 years, 2 months ago
Selected Answer: AD
And D are correct
upvoted 2 times

& & alic_alex 2 years, 3 months ago
Selected Answer: AD
E - wrong because will cause an error "ORA-01427: Subquery returns more than one row"
upvoted 3 times
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Question #9 Topic 1

Which two statements are true about TRUNCATE and DELETE? (Choose two.)

A. DELETE can use a WHERE clause to determine which row(s) should be removed.

B. TRUNCATE can use a WHERE clause to determine which row(s) should be removed.
C. TRUNCATE leaves any indexes on the table in an UNUSABLE state.

D. The result of a TRUNCATE can be undone by issuing a ROLLBACK.

E. The result of a DELETE can be undone by issuing a ROLLBACK.

Suggested Answer: AE

Community vote distribution
AE (100%)

E & devml 2 years, 5 months ago
A. DELETE can use a WHERE clause to determine which row(s) should be removed. > Is correct
B. TRUNCATE can use a WHERE clause to determine which row(s) should be removed. > Its wrong bcoz truncate will delete every rows in a table
except the table definitions.
C. TRUNCATE leaves any indexes on the table in an UNUSABLE state. > its wrong truncate will remove everything except table definition or skeleton
of the table
D. The result of a TRUNCATE can be undone by issuing a ROLLBACK.-—-> Its wrong bcoz TRUNCATE is a ddl statement whereas it can be done for
DELETE since its dml statement
E. The result of a DELETE can be undone by issuing a ROLLBACK. --> Its correct bcoz DELETE is DML statement and each delete of row are recorded
in transaction log or the redo logs.

upvoted 5 times

© & pushpaksarode 3 months ago
We can use WHERE clause in DELETE, We can ROLLBACK DELETE operation.
upvoted 1 times

B & Drexan 8 months, 1 week ago
Truncate is forever...
upvoted 1 times

B & alelejaja 1 year, 1 month ago
A, E correct answers
upvoted 1 times

B & Chandra1104 2 years, 3 months ago
AE
is the correct ans.
With truncate we can not user where clause (B)
with truncate even if we rollback data will not be rollback. (D)
upvoted 2 times

E & heoj10272 2 years, 8 months ago
AE correct answers
upvoted 2 times

B & Artur1991 2 years, 9 months ago
AE are the correct answers
upvoted 2 times
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Question #10 Topic 1

The STORES table has a column START_DATE of data type DATE, containing the date the row was inserted.
You only want to display details of rows where START_DATE is within the last 25 months.
Which WHERE clause can be used?

A. WHERE TO_NUMBER(start_date - SYSDATE) <= 25

B. WHERE MONTHS_BETWEEN(start_date, SYSDATE) <= 25
C. WHERE MONTHS_BETWEEN(SYSDATE, start_date) <= 25
D. WHERE ADD_MONTHS(start_date, 25) <= SYSDATE

Suggested Answer: C

Community vote distribution
C (100%)

B & Drexan 8 months, 1 week ago
months_between.. The interval is important, and if | add 25 months to a date 3 years ago, it will not be in the desired interval... disregar my previous
comment
upvoted 1 times

B & Drexan 8 months, 1 week ago
ADD_Months
upvoted 1 times

B & percyosag 1 year, 2 months ago
¢ is the answer using ADD_MONTHS(date, n)
upvoted 1 times

B & guretto 1 year, 8 months ago
START_DATE stores "the date the row was inserted". Therefore cannot be > SYSDATE (that is "now") and C is the right one
upvoted 1 times

B & PuErh 2 years, 3 months ago
| can't get why the B is incorrect.
A negative value is still less than 25.
| think I have to check it in DB.
upvoted 1 times

& & TofOra 1 year, 4 months ago
"A negative value is still less than 25." Yes, but -30 (meaning 30 months ago) would be less than 25.
upvoted 1 times

& & Rik92 2 years, 1 month ago
The statement in B would indeed result in -25 and thus be correct. But C is the 'cleaner’ answer here and thus the one you should pick.
upvoted 1 times

B & Rik92 2 years ago
The question has been edited and this is no longer an option!
upvoted 1 times

B & dexdinh91 2 years, 5 months ago
C is correct
upvoted 2 times

E & LATI2022 2 years, 8 months ago
D is false, only put an example between '01/01/200' and '01/02/2002' 25 months but isn't in the last 25 months
upvoted 1 times


https://www.examtopics.com/user/Drexan/
https://www.examtopics.com/user/Drexan/
https://www.examtopics.com/user/Drexan/
https://www.examtopics.com/user/Drexan/
https://www.examtopics.com/user/Drexan/
https://www.examtopics.com/user/Drexan/
https://www.examtopics.com/user/percyosag/
https://www.examtopics.com/user/percyosag/
https://www.examtopics.com/user/percyosag/
https://www.examtopics.com/user/guretto/
https://www.examtopics.com/user/guretto/
https://www.examtopics.com/user/guretto/
https://www.examtopics.com/user/PuErh/
https://www.examtopics.com/user/PuErh/
https://www.examtopics.com/user/PuErh/
https://www.examtopics.com/user/TofOra/
https://www.examtopics.com/user/TofOra/
https://www.examtopics.com/user/TofOra/
https://www.examtopics.com/user/Rik92/
https://www.examtopics.com/user/Rik92/
https://www.examtopics.com/user/Rik92/
https://www.examtopics.com/user/Rik92/
https://www.examtopics.com/user/Rik92/
https://www.examtopics.com/user/Rik92/
https://www.examtopics.com/user/dexdinh91/
https://www.examtopics.com/user/dexdinh91/
https://www.examtopics.com/user/dexdinh91/
https://www.examtopics.com/user/LATI2022/
https://www.examtopics.com/user/LATI2022/
https://www.examtopics.com/user/LATI2022/

B & Rik92 2 years, 8 months ago
C is true. MONTHS_BETWEEN(date 1, date 2) Oracle gives a positive value when date 1 > date 2 and a negative when date 1 < date 2

https://www.techonthenet.com/oracle/functions/months_between.php
upvoted 2 times

B & meddheddy 2 years, 9 months ago
why D is not true ?
upvoted 1 times

& & kakamusili 2 years, 8 months ago
It would work as well,
upvoted 1 times

& & Peter_Chen 2 years, 8 months ago
Because.....less than 25 months,ex:"26.27.28.29.30 month?
upvoted 2 times

© & Antreu 2 years, 8 months ago
if start_date+25 is less than sysdate, then start_date is not in the last 25 months
upvoted 1 times

E & zzsqlcoder 9 months, 2 weeks ago
Yes because if we try a date that is 30 months before, if we add 25 months it is still less than SYSDATE so the condition will result true. That's
why C is the only alternative
upvoted 1 times
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Question #11 Topic 1

Which three are true about scalar subquery expressions? (Choose three.)

A. They can be nested.

B. They cannot be used in the VALUES clause of an INSERT statement.

C. A scalar subquery expression that returns zero rows evaluates to zero.

D. They can be used as default values for columns in a CREATE TABLE statement.
E. A scalar subquery expression that returns zero rows evaluates to NULL.

F. They cannot be used in GROUP BY clauses.

Suggested Answer: AEF
Reference:
https://docs.oracle.com/cd/B12037_01/server.101/b10759/expressions010.htm

Community vote distribution
AEF (80%) BEF (20%)

B & highwater 3 months ago
A. They can be nested.
E. A scalar subquery expression that returns zero rows evaluates to NULL
F. They cannot be used in GROUP BY clauses
upvoted 1 times

B & alelejaja 7 months, 1 week ago
| also think AEF are the correct answers
upvoted 1 times

B & Ashkush 8 months, 3 weeks ago
Why is D incorrect?
upvoted 1 times

© & Nsilva 8 months, 2 weeks ago
D. They can be used as default values for columns in a CREATE TABLE statement.
>> True, but there might be one of two issues.
1) The website has marked it incorrectly as "False”
2) It is an SQL exam, where wording matters. "You can use it as a default value (IN columns) / (for ROWS) during CREATE TABLE statement"
upvoted 1 times

B & alelejaja 7 months, 1 week ago
Sorry to say | don't share your point here. D is falso since, as official doc from Oracle highlights, scalar subqueries are not valid expressions as
default values for columns.
https://docs.oracle.com/en/database/oracle/oracle-database/19/sqlrf/Scalar-Subquery-Expressions.html#GUID-475D80C3-C873-4475-AB1A-
8837C5CF8CE4
upvoted 4 times

B & jm9999 1 year, 3 months ago
| don't think they can be nested. Tried:
select employee_id,
(select department_name, (select city from locations | where l.location_id=d.location_id)
from departments d where d.department_id=e.department_id)
from employees e;
But got 'too many values error'.
upvoted 1 times

& & jm9999 1 year, 2 months ago
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Changing my answer to AEF. | found B to be incorrect. Still not sure how to nest them (A).
upvoted 2 times

B & TofOra 11 months ago
select order_id, order_total_value, (select avg(order_total_value from orders where order_date > (select sysdate - 30 from dual)) as
average_30_days, order_total_value - (select avg(order_total_value from orders where order_date > (select sysdate - 30 from dual)) as
above_average_30_days from orders where order_total_value > (select avg(order_total_value) from orders where order_date > (select sysdate -
30 from dual))
upvoted 1 times

& & TofOra 11 months ago
This query is returning more than 1 row: select city from locations | where I.location_id=d.location_id so 'too many values error’, try select
DISTINCT city from locations | where |.location_id=d.location_id
upvoted 1 times

B & zouve 1 year, 5 months ago

Selected Answer: AEF

A. They can be nested. Scalar subqueries can be nested within other scalar subqueries or within other SQL expressions.
E. A scalar subquery expression that returns zero rows evaluates to NULL. If a scalar subquery returns no rows, it evaluates to NULL.

F. They cannot be used in GROUP BY clauses. Scalar subqueries cannot be used in GROUP BY clauses because they do not return a single value that
can be used to group rows.
upvoted 3 times

B & Chandra1104 1 year, 9 months ago
Its ABE.
A. They can be nested. --> True
B. They cannot be used in the VALUES clause of an INSERT statement. --> True
C. A scalar subquery expression that returns zero rows evaluates to zero. --> False
D. They can be used as default values for columns in a CREATE TABLE statement.—-> False
E. A scalar subquery expression that returns zero rows evaluates to NULL. --> True
F. They cannot be used in GROUP BY clauses.--> False

https://www.oratable.com/scalar-subquery/
upvoted 1 times

& & J4vi 1 year, 7 months ago
AEF
There is no way you could use it in GROUP BY clauses, but it says nothing about VALUES clause.
https://docs.oracle.com/en/database/oracle/oracle-database/19/sqlrf/Scalar-Subquery-Expressions.html#GUID-475D80C3-C873-4475-AB1A-
8837C5CF8CE4
upvoted 2 times

& & holdfaststrongly 2 years, 2 months ago
According to both of your links, wouldn't B also correct because INSERT is part of a DML statement? B says "CANNOT" be used in the value of an
INSERT statement. Double negative makes the statement positive. Just saying...
upvoted 1 times

B & Artur1991 2 years, 3 months ago
AEF are the correct answers
https://docs.oracle.com/cd/B19306_01/server.102/b14200/expressions010.htm
upvoted 2 times

& & heoj10272 2 years, 2 months ago
| agree with you, but this would be better docs.

https://docs.oracle.com/database/121/SQLRF/expressions014.htm#SQLRF52093

this is 12c¢ docs.
upvoted 2 times
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Question #12 Topic 1

Examine this query:
SELECT employee id, first name, salary
FROM employees
WHERE hire date > '&l';

Which two methods should you use to prevent prompting for a hire date value when this query is executed? (Choose two.)

A. Use the DEFINE command before executing the query.

B. Replace '&1" with '&&1" in the query.

C. Use the UNDEFINE command before executing the query.

D. Execute the SET VERIFY OFF command before executing the query.
E. Execute the SET VERIFY ON command before executing the query.

F. Store the query in a script and pass the substitution value to the script when executing it.

Suggested Answer: AF

Community vote distribution
AF (75%) AB (25%)

B & ArslanAltaf 8 months, 2 weeks ago
B cannot be an option because the question says "Prevent prompting of hire date value". && will still prompt it once.
upvoted 3 times

& & yanoolthecool 1 year ago
Still cant get why F is the answer, it literally says 'pass a value', doesnt that translate to prompting the user? as for B, && does an implicit DEFINE on
first value entered via the prompt, but if it was already defined then it will just use the value that was already defined, | say AB.
upvoted 1 times

& & yanoolthecool 1 year ago
looking this up was a bit difficult, but GPT says as | say.
upvoted 1 times

E & winston 1 year, 2 months ago
Why is B not correct?..and someone explain how o store a query in a script, i cant get the concept..
upvoted 1 times

© & Lee_jong_suk 1 year ago
vi sql_script.sql
select * from employees where employee_id = '&1;
to execute the file -> @sql_script.sql
then it will prompt for value -> Enter value for 1:101
here you can enter whatever id you want.
These are used to generate reports for debugging.

upvoted 2 times

© & Rik92 1 year, 7 months ago
AF are correct.
B will promt once, but question asks for no prompting at all
C. UNDIFINE is not a thing
D/E Verify has nothing to do with prompting
upvoted 2 times

B & J4vi 1 year, 7 months ago

Selected Answer: AF

It's confusing, if you replace &1 with &&1 it would still be asking for the value every time you run the query, it doesn't make sen